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From the cosmological constant problem:

why does vacuum energy exibit a gravitational contribution enormously lower
than the predicted one? Does vacuum gravitate or not?



—= #—@—# = Cu-Ochain

Cuprates are «natural»

stacks of Casimir cavity ]
How to measure it?

* The ideais to weigh a rigid Casimir cavity when the vacuum
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The Vacuum Weight The Experiment
The Casimir effect is a macroscopic
manifestation of vacuum fluctuations.
If the vacuum «weights» then thereis a
force, directed upward, equal to the
weight of the modes expelled from the

cavity when it becomes | 1
superconducting.
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